
Parts List Sheet:PHONE: 330.264.5678 or 800.228.1161 I FAX: 330.264.2944 or 800.531.7335 | www.akronbrass.com
WARRANTY AND DISCLAIMER*: We warrant Akron Brass products for a period of five (5) years* after purchase against defects in materials or workmanship. Akron Brass will repair or replace product which fails to satisfy this warranty. Repair or replacement
shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service. We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or
modification after delivery; failure to follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT, AND WE
DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or indirect damages (including, but not limited to, any loss of profits) from
any cause whatsoever. No person has authority to change this warranty. *Unless otherwise provided herein. Akron Brass industrial electronic components & the Severe-Duty Monitor have a one (1) year warranty. Select Akron Brass handline nozzles and valves
carry a ten (10) year warranty. Scene Star Lights carry a (6) year warranty. Weldon products have a two (2) year warranty from date of manufacture (excluding consumable components). Select Weldon LED products carry a five (5) year warranty. Honda products
have the manufacturers’ warranty and Akron Brass disclaims any warranty in respect of those products.
 © 2016 Akron Brass Company. All rights reservered. No portion of this can be reproduced without the express written consent of the Akron Brass Company.

R

DateChg.
09-1402
01-1703

124440

D47384

TECHNICAL SERVICE PARTS
STYLE  8820,8825,8830,8835 
PRODUCT  HANDWHEEL ACTUATOR

6" HANDWHEEL VERSION
OR 5" HANDWHEEL VERSION

ASSEMBLY NOTES:

USE PERMABOMD LM113 OR LOCTITE 222

USE PRIMER T AND PERMABOND HH120 OR LOCTITE 277

USE LOW-TEMP LUBRIPLATE

TIGHTEN DOWN COMPLETELY AND BACK OFF 1/4 TURN

DRILL THRU CENTER WITH #10 DRILL

USE PARKER O-LUBE @ ASSEMBLY

NEED TO BE TIMED AT ASSEMBLY

USE LOCTITE 680 AT ASSEMBLY

USE ASSEMBLY FIXTURE D47415 AT ASSEMBLY

18

17

19

15

12

9

8

7

5

1

14
13

2

3

4

6

28

20

21

16

27

22

24
25

23

.015 GAP AT ASSEMBLY

30

31

17

THREADS ONLY
APPLY TO FEMALE

1

2

3

4

5

6

7

8

9

1

3

7
86

3
7

2

2
4

4

7

7

7

2

7



Parts List Sheet:PHONE: 330.264.5678 or 800.228.1161 I FAX: 330.264.2944 or 800.531.7335 | www.akronbrass.com
WARRANTY AND DISCLAIMER*: We warrant Akron Brass products for a period of five (5) years* after purchase against defects in materials or workmanship. Akron Brass will repair or replace product which fails to satisfy this warranty. Repair or replacement
shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service. We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or
modification after delivery; failure to follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT, AND WE
DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or indirect damages (including, but not limited to, any loss of profits) from
any cause whatsoever. No person has authority to change this warranty. *Unless otherwise provided herein. Akron Brass industrial electronic components & the Severe-Duty Monitor have a one (1) year warranty. Select Akron Brass handline nozzles and valves
carry a ten (10) year warranty. Scene Star Lights carry a (6) year warranty. Weldon products have a two (2) year warranty from date of manufacture (excluding consumable components). Select Weldon LED products carry a five (5) year warranty. Honda products
have the manufacturers’ warranty and Akron Brass disclaims any warranty in respect of those products.
 © 2016 Akron Brass Company. All rights reservered. No portion of this can be reproduced without the express written consent of the Akron Brass Company.

R

FIND DESCRIPTION ITEM
QTY

TOP MNT. SIDE MNT. AUX. MNT.
1 PANEL PLATE S/A TOP 88252161 1 - -
1 PANEL PLATE S/A SIDE 88252162 - 1 -
1 PANEL PLATE S/A AUX. 88252163 - - 1
2 LABEL INDICATOR 729172 1 1 1
3 LARGE GEAR 718161 1 1 1
4 SCREW BUTTON HD 5/16-18X3/4" 766051 1 1 1
5 SMALL GEAR 718162 1 1 1
6 SCREW BUTTON HD 10-24 X 3/4" 766009 1 1 1
7 BALL ST STL 3/16" 704018 1 1 1
8 SPRING 768181 1 1 1
9 SCREW RND HD 1/4 -20 X 3/8" 763056 1 1 1
12 SCREW PHIL PAN HD 1/4-20 X 7/8" 763069 4 4 4
13 WASHER SPLIT LOCK 1/4 784106 4 4 4
14 HEX NUT 1/4-20 734061 4 4 4
15 NYLON WASHER 1 X 1/2 X .15 784183 1 1 1
15 NYLON WASHER 1 X 1/2 X .24 (FOR 5" HANDWHEEL ONLY) 784248 1 1 1
16 SHAFT 768464 1 1 1
17 HANDWHEEL 4" 721525 1 1 1
17 HANDWHEEL 5" * 124631 1 1 1
17 HANDWHEEL 6" 117041 1 1 1
17 HANDWHEEL 8" 721228 1 1 1
18 OPEN LABEL - CCW 729586 1 1 1
18 OPEN LABEL - CW 729585 1 1 1
19 ROLL PIN 744084 1 1 1
20 SPUR GEAR 718160 1 1 1
21 SCREW SOC HD SET 8-32 X 3/16" 765042 2 2 2
22 HEX BUSHING 803118 1 1 1
23 HEX JAM NUT 3/4-16  X 27/64" THK 735121 1 1 1
24 COVER PLATE 742248 1 1 1
25 ALLEN HD SCREW 10-24 X 3/8" 765016 4 4 4
27 BEARING 803119 1 1 1
28 O-RING 2-012 757282 1 1 1
30 BUSHING 2.5"CP/CLR 6" HANDWHEEL 101692 1 1 1
30 SPINNER HANDLE FOR 5" HANDWHEEL 770414 1 1 1
31 PIN HANDLE HAND WHEEL ST STL 6" HANDWHEEL 741044 1 1 1

DateChg.
09-1402
01-1703

124440

D47384

TECHNICAL SERVICE PARTS
STYLE  8820,8825,8830,8835 
PRODUCT  HANDWHEEL ACTUATOR

  * 5" HANDWHEEL KIT: ORDER KIT 88252174


	Sheet 5
	Views
	new_view_19
	new_view_20

	Zones
	A1


	Sheet 6
	Zones
	A1



